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31. Let d represent the distance between the two ciies
on the map in inches.

1 _d
50 =575
875 = 500d
875_ 500d
500~ 500"
175=d
The cities are 1.75 in. apart on the map.
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34. 6.5 0z; a tenth of an ounce is the smaller
measurement

35. 16 0z; an ounce is the smaller measurement

36. 3525 m; a meter is the smaller measurement

37.25(0.01) = 0.25 38. 400(0.04) = 16
25-0.25=24.75 400 - 16=384
2540.25=2525 400 + 16 = 416

24.751-25.251t 384 1b-416 Ib
39. 250(0.005) = 1.25
250 — 1.25 = 248.75

250 + 1.25 = 251.25
248.75 cm-251.25 cm





